
INSTALLATION INSTRUCTIONS FOR IMCO-NV HELM POST AND HELM CONTROL
A.  USE THE ADAPTER PLATE FOR LOCATING HOLES TO BE DRILLED IN DASHBOARD
B.  DRILL 4ea 1/2” HOLES 
C.  DRILL 3’’ CENTER HOLE
D.  ATTACH ADAPTER PLATE TO THE HELM CONTROL USING THE 3/8” BOLTS PROVIDED
E.  INSTALL HELM POST THRU DASHBOARD AND SECURE WITH 1/2’’ NUTS PROVIDED
F.  FACE OIL PORTS IN THE 12, 3, 6 OR 9 O-CLOCK POSITION INSTALL HELM CONTROL W/ADAPTER PLATE TO
     END OF STEP STUDS SECURE WITH 3/8’’ NUTS PROVIDED

A.
ADAPTER PLATE/
DRILL TEMPLATE

12:00

B9:00

6:00

3:00

B

B

B

C.

D.
ADAPTER PLATE

HELM CONTROL

3/8” BOLTS

3/8” NUTS
1/2” NUTS

E.
HELM POST

F.
OIL PORTS


